
rYCAP
nsomn & INsc[t
CAPACITORS 105 0c c+5 ae5

EHG

Feotures
. All internal contact welded
. High performance
. High ripple current
. Long useful life

Applicotions
. lndustrial
. lnverter/drives
. Telecommunications
. Laser

General specifications

Screw terminals
High CV product

Long life 8000 h @ 105"

'ü; Cf;,"liant
;-,6 ,',(i i e*i ir, ,llAy:t

Different case sizes, voltages and
capocita nce combi nations
are avoilable on request.

Also in small lots.

Items Characteristics
Rated copacitance range C, 390 .. . 3.300.000 uF

Capacitance tolerance + 20%

Rated voltoge range U o 16...450V

Surge voltage U,
Uß< 315 V: Ur= 1,15 g,
U"> 315V: U.= 1,10 U"

Max. reverse voltage / ESL 2V/ 20 nH

Category tem perature range - 40"C ... + 105"C

Leokoge current l, after 5 min q U, < 0,008 x C, [ltF] x U, [V] + 6 LtA [pA]

Useful life 8000h@ 105"C;U,;1,_

Requirements
A UC < 30 o/o of initial value
ESR < 300 o/o of specified limit

l,sspecified limit

Endurance test 4000h@t05"c,uR

Requirements
A aC < 20 oÄ of initial value
ESR < I 30 ok of specified limit

l,<specifred limit

Climatic category IEC 60068 40/1 0s/s6

Voltage proof of the externol insulation > 2500 v AC

S ecti o n al s p eci fi cat i o n IEC 60384-4

Fischer & Tausche Capacitors
Husum / Germany

Tel. +49 48 41 89 57 0
Fax +49 48 41 a9 57 45

www.ftcap.de
info@ftcap.de

35



FTSAP
flsclEn I nuscttt

CAPACITORS
105 0c fmc

Drowingsfor series GA ond GB

Dimensions and mechanical data

Fischer & Tausche Capacitors
Husum / Germany

D __lLD--]
Figl: GA for ring clamp mounting Fig 2: GB for stud mounting

Tel. +49 48 41 89 57 o

Fax+49 48 41 89 57 45

www.ftcap.de
info@ftcap.de

Dfuerrsions, casewj

,,'.
Casg length lavail-
able ln 5 mm l

tmml

täinrulaüor

I

I .. nl

I u,,']

sleve

a

, lmrrl

Connectl!':l
Threod I

Utrymtnob

Max"torque

INmI

Mau,riti,tgstud,

IBI

GBOnU

Max,torque

[Nm]

35 40 ...120 6 13 M5 2,0 M8x12 4,0

40 40 ...120 5 'l 8 M5 2,0 M8x12 4,0

50 40 ...120 5 22 M5 2,0 M12x16 10,0

65 40 ... 1 80 5 28,5 M5 2,0 M12x16 10,0

75 40...230 5 3',t,7 M5,M6 2,0;2,5 M12x16 10,0

90 40 ...230 5 31 ,7 M6 2,5 M12x16 10,0

GA

GB

connecting screws M 5 or M 6
connecting screws M 5 or M 6 + mounting nut M I or M l2

Remarks
Further mounting accessories like clamps, nylon cup nuts ond insulation disks on request,

see "accessory equipment"

36



rTCAP
FISCHER & TAUSCHE

Unr''\Ll i(llt5 105 0c e+ e+
UH] G

Electricol dotd and ordering code for series G

ßated

voluge

ur

tvl

f,ated op

(r

{llrl

Qlesize

Drl-

lmml

Tvp

6R
1m

llz,

20"t

ln01

Ripple

(Urent

l[-,
1008?"

16t
tAl

0rder code

Plain ba:e:

6A.."

5§d r*ounftrgr

68..-

16

82000 35x55 6 9,0 82301 635055

1 20000 35x70 4 12,0 12401635070
.l 
20000 40x55 4 11.1 12401640055

1 50000 35x80 3 14,2 1 540 635080

1 50000 40x70 3 13,7 1540 640070

1 80000 35x1 00 3 17,0 1 840 6351 00

1 80000 40x80 3 15,8 I 840 640080

1 80000 45x70 3 15,0 I 840 645070

220000 40x1 00 3 19,1 2240 6401 00

220000 50x70 3 17,7 22401650070

270000 45x 1 00 3 21,1 2740 645',I00

270000 50x80 3 20,6 2740 650080

390000 50x1 00 3 27,0 3940 6501 00

470000 65x80 3 35,6 4740 665080

560000 65x1 00 2 42,1 56401 665 1 00

820000 65x1 30 2 56,5 82401 665 1 30

820000 75x1 00 44,1 82401 675 1 00

1 000000 75x115 51 ,3 105016751 15

1 200000 75x145 61,5 12501675145

1 500000 75x165 72,4 r 5501 675 1 65

1 800000 90x1 48 84,8 1 8501 6901 48

2200000 75x225 99,8 22501675225

2200000 90x17O 99,0 22501690170

2700000 90x220 121 ,7 27501690220

3300000 90x230 137,1 33501 690230

25

22000 35x55 20 4,8 22302535055

33000 35x70 14 6,5 33302535070

33000 40x55 14 6,1 33302540055

39000 35x80 1',I 7,5 39302535080

47000 40x70 9 70 47302540070

56000 35x1 00 8 9,8 56302535 1 00

56000 40x80 8 9,1 56302540080

56000 45x7O 8 8,6 56302545070

68000 40xl 00 7 1,0 683025401 00

68000 50x70 7 o,2 68302550070

68000 45x1 00 7 1,0 683025451 00

82000 50x80 5 1.7 82302550080

1 20000 50x1 00 4 5,5 12402550100

1 20000 65x80 4 8,3 12402565080

1 80000 65x1 00 3 24,3 1 84025651 00

220000 75x1 00 2 23,2 22402575100

270000 65xl 30 2 33,0 27402565130

270000 75x115 2 27,1 27402575115

390000 75x145 35,7 39402575',14s

470000 75x165 I 41,2 47402575165

560000 90x1 48 1 48,1 56402590148

680000 75x225 56,5 68402575225

Rated

voluge
"ur

lvl

Ratdrap.

q
Frt

€as+rn'

DxLlmml

'TYP.

E5R

100

t{4

t0t
fn{l

füpph

CTRüt

tB_

1ütt&
l05r.tAt

0iöereode

Plaln bass:

64...

$udqruming:
. ; ,68..i ..r

25
680000 90x170 56,0 68402590170

820000 90x220 1 68,2 82402590220
'1 000000 90x230 1 76,8 1 0502590230

40

1 5000 35x55 25 4.3 1 5304035055

1 8000 40x55 21 4,8 1 8304040055

22000 35x70 17 E- 22304035070

27000 35x80 14 6,7 27304035080

27000 40x70 14 6,5 27304040070

33000 35x1 00 't2 8,1 33304035 1 00

33000 40x80 't2 7,5 33304040080

33000 45x7O 12 7,2 33304045070

39000 50x70 10 8,3 39304050070

47000 40x1 00 8 9,9 47304040100

47000 50x80 ö 9,6 47304050080

56000 45x1 00 7 10,7 56304045 1 00

68000 50xl 00 6 12,6 683040501 00

82000 65x80 5 16,6 82304065080

1 20000 65x1 00 3 21,8 2404065100

1 50000 75x1 00 3 21,1 54040751 00

I 50000 65xl 30 3 27,O 5404065130

1 80000 75xl 1 5 2 24,3 8404075115

220000 75x145 2 29,4 22404075145

270000 75x165 1 34,3 27404075165

330000 90xi 48 40,6 33404090148

390000 75x225 47,0 39404075225

390000 9Ox170 46,6 39404090170

560000 90x220 1 62,0 56404090220

560000 90x230 1 63,1 56404090230

63

6800 35x55 42 3,4 68206335055

8200 40x55 35 3,8 82206340055

1 0000 35x70 29 4,5 I 0306335070

1 2000 35x80 24 5,2 1 2306335080

1 2000 40x70 24 5,0 12306340070

I 5000 35x1 00 9 6,3 I 5306335 1 00

I 5000 40x80 9 5,9 I 5306340080

1 5000 45x70 9 5,6 1 5306345070

1 8000 50x70 6 6,5 1 8306350070

1 8000 40x1 00 6 7,1 1 83063401 00

22000 50x80 3 7,6 22306350080

22000 45x1 00 ? 7,8 22306345100

27000 50x1 00 9,2 273063501 00

39000 65x80 7 13,2 39306365080

47000 65x1 00 6 15,8 47306365 00

68000 75x1 00 4 16,4 68306375 00

68000 65x1 30 4 21,0 68306365 30

82000 75x115 3 19,0 82306375 l5
1 00000 75x145 3 22,9 10406375 45

Fischer & Tausche Capacitors
Husum / Germany

Tel. +49 48 41 89 57 o
Fax +49 48 41 89 57 45

www.ftcap.de
info6ftcap.de

37


